ORIGINAL (STRUCTURAL ANGLE)
Since 1901 2417 Security WIRE MESH PARTITION

Cogan.com

an | [l Partitions

POSTS - TOP FIX

Description

This partition system features floor-to-ceiling posts up to
48’ high. Standard post spacing is 2' to 10’ center-to-cen-
ter. Custom post spacing is also available. Ideal for max-
imizing storage or workspace as the partition utilizes the
full height of your facility. Panels are made of 2" x 2" x 10
GA welded wire mesh framed in 1 1/4" x 1 1/4" x 12GA
structural angle with one or two welded g 1/2" g reinforce-
ment rods.

JRLELY

T
i3

L S

PRODUCT INFORMATION

This partition system features floor-to-ceiling posts up to 48’ high. Standard post spacing is 2' to 10’ center-to-cen-
ter. Custom post spacing is also available. Ideal for maximizing storage or workspace as the partition utilizes the full
height of your facility.

Specifications
Post Height 27 % 2" Posts = 3" to 24’ high, with Base Plate = 6" x 6" x 1/4*
2" x 4" Posts = 25" to 35" high, with Base Plate = 8% x " x 1/2*
27 x 6" Posts = 36" to 48" high, with Base Plate = 10" x 67 x 1/2*
Material Hollow Structural Tubing
Finish Powder-coated

coLoRs 'Wroweee

TOUGH"

Cogan Grey



( Cogan

2417 Security

POST DETAILS

Partitions

ORIGINAL (STRUCTURAL ANGLE)
WIRE MESH PARTITION

Cogan.com

i CORNER POST ) Baseplate
o
el

= 4
= 23
Baseplate WALL POST I &
g
& 45" max
haight
Weall posts
are punched height
on 1 axis
Wall posts
are always
2"k 2" o
Slandarnd pos A
3 s 2 010" G/C
~ Custom past spacing
s also avalabde.
Baseplates LINE POST

LINE POST SIZES

11" to 24’ high |
Posts are made of 2° x 2° x 16GA seam

g welded square tube. Baseplates are made

of 6" x 8" x 1/4" steel plate and punched

with four holes for anchor bolts.

Require 3/8 s anchor size.

height
17" to 35 high
Posts are made of 4" x 27 x 1/8" seam
welded rectangular tube. Baseplale are
made of 6" x 8" % 1/27 steel plate and
punched with four holes for anchor bolts,
Require 5/8 s anchor size.

10" 25 to 48" high

«

Posts are made of 67 x 27 % 1/8" seam Line posts
welded rectangular lube. Baseplale are are pu-1_c'1ed
made of 8" x 10" x 1/2" steel plate and on 1 axis

punched with four holes for anchor bolts.
Require 5/8"w anchor size.

Anchors are sold separalely as an
accessory.

j . Comer posts
height are punched
on 2 axis
Corner posts
are always
27 w2
Seo Gates section 4
for more information
DOOR POST ) Baseplates
& DOOR POST SIZES
li 11" to 24’ high

Posts are made of 27 x 2° x 18GA seam
welded square tube Baseplates are made
of 6" x 8 x 1/47 steel plate and punched

-
with four holes for anchor bolts.

8" Requirg 3/&8 e anchor size.

height
17" to 35° high
.a" Posts are made of 47 x 27 x 1/8" seam
welded reclangular tube. Baseplale are
made of 6" x 8" x 1/2" steel plate and
g punched with four holes for anchor bolts.
{ Requirg 5/8 w anchor size.
Daor posts 10*  25'to 48 high
are punched Posts are made of 6° x 2° x 1/8" seam
on 1 axis welded rectangular tube. Baseplale are
mads of 6" x 10" x 1/2" steel plate and
punched with four holes for anchor bolts.
Requirg 5/8 w anchor size.
IMPORTANT:

Anchors are sold separately as an
Please note that all posts ACCBES0MY.

over 24" high are spliced.

See installation manua
for complete details



ORIGINAL (STRUCTURAL ANGLE)
WIRE MESH PARTITION

Partitions

2417 Security

(& Cogan

Cogan.com

TOP FIX
BRACING
TIPS

=
=1
1]

LSRN

B

i
L1

N

.i'l“‘t’s‘.‘t‘l‘l;ih‘&\\\

il 1

i

*

i

——
=
—
]
=
"-‘

id
£)

IR

+
| 5 Fidaaee,

Standard post snacing" .
is2 to 10" CIC. i
Custom post spacing
is also available.

See Gales section
for more information

SUGGESTED INSTALLATION - PARTS IN RED ARE NOT PROVIDED BY COGAN

DETAIL A

’ -
S e
.

HS5S: 2x 2
PLATE: 2" x 6" x 1/4"
BOLT: Carriage bolt 1/4"a
¥ long or Treaded
rod 5188 - 3" long
PIPE: 1/2" STD (0 84°@ O0)
21/8" long.

HSS: 2 x4
PLATE: 2" x 6" x 1/4"
BOLT: Carriage bolt 5/16"e
& long or Treaced
rod 5/16°@ - 5" long.
PIPE: 1/2" STD (0.84"g QD)
4 1/8" long.

HES: 2 x 6

PLATE: 2" x 6" x 1/4"

BOLT: Treaded rod 816 ®
7 long.

PIPE: 172" 3TD (0 84w OO)

6 158" long.

DETAILB

HSS: 2x2

PLATE: 2" x 6" » 104"

BOLT: Carriage bolt 1/4°2
3" long.

PIPE: 1/2" ETD (0.84"e QD)
2 1/8" long.

HSS: 2 x4

PLATE: 2" x B" = 1/4"

BOLT: Carriage bolt 1/4°e
37 long.

PIPE: 1/2" STD (0.84"e QD)
2 1/8" long.

HSS: 2 x 6
PLATE: 2" x 10" x 1/4"
BOLT: Carriage bolt 1/£°e
37 long.
PIPE: 1/2" STD (0.84"e QD)
2 1/8" long.

PLAN VIEW

[ Fla-—f‘\rgle




